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§ 30 3.6 In the circuit of Fig. 3.14, find the power absorbed by each of the
+ five elements in the circuit.
30 Q) § vy NN Ans: (CW from Ieft) 0.768 W, 1.92 W, 0.2048 W, 0.1792 W, —3.072 W.
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B FIGURE 3.14 Asimple loop circuit. o
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3.8 For the single-node-pair circuit of Fig. 3.18, find i4,ip, and ic.
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B FIGURE 3.18

Ans: 3A; —54A:6A.
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3.14 For the circuit of Fig. 3.32, calculate the voltage v,.
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B FIGURE 3.32

Ans: 2.819 V.
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48. Determine the power absorbed by the 15 €2 resistor in the circuit of Fig. 3.86.
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B FIGURE 3.86
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Employing resistance combination and current division as appropriate, deter-
mine values for iy, i>, and v in the circuit of Fig. 3.92.
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57. In the circuit of Fig. 3.93, only the voltage v, is of interest. Simplify the circuit
using appropriate resistor combinations and iteratively employ voltage division

to determine v,.
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B FIGURE 3.93
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60. The circuit depicted in Fig. 3.96 is routinely employed to model the midfre-
quency operation of a bipolar junction transistor—based amplifier. Calculate the
amplifier output vy if the transconductance g,, is equal to 322 mS.
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B FIGURE 3.96



